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i.con IV Semester Degreo Examination, September/October 2022

COMMERCE
Corporate Accounting — Il (Now)

o3 Hours Max. Marks : 80
Instructions : 1) ay Sections are compulsory.

2) Simple calculators allowed,
3) Give necessary working notes.

SECTION - A
Answer any ten of the following :

& ) State types of Goodwill.

b) Mention any two contingent li

¢) What is performing asset ?

d) Define consolidated statement of assets

e) What is partially owned subsidiary ?

f) Mention any two circumstances under which goodwill is valued.
) What is fair value of a share ?

(10x2=20)

abilities of Bank.

and liabilities.

h) How do you treat profit prior to incorporation in the accounts ?
i) What is non-banking assets ?

/) What is Ex-dividend price of share i

K) State any two expenses whic
and post incorporation period

) What is minority interest ?

h can be allocated in Time Ratio between pre

SECTION - B
Answer any three of the following (3x5=15)
2 The following are the particulars relating to a Ltd Company
Total Assets < 4,00,000
- External liabilities ¥1,20,000
 Share Capital :
= 10,000 Equity shares of T 10 each fully paid 3 1,00,000
10,000 Equity shares of ¥ 10 each ¥ 8 paid up 3 80,000
- Caleulate value of each equity share.,
P10,
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3. ACo. Ltd. was incorporated on 1-7-2021 to takeov

as a going concern as from 1-4-2021. The averag !
3 months during the year was ¥ 15,000. Where as the average monthj, Sa,;’

for the subsequent period was ¥ 10,000.
Calculate the time ratio and sales ratio.

4. Calculate the amount of goodwill from the following information :

Profits/Losses for the past 5 years.
Profits/Loss

Year

2017 Profit ¥ 15,000
2018 Profit ¥ 20,000
2019 Loss % 10,000
2020 Profit ¥ 25,000
2021 Profit¥ 10,000

It is agreed that the goodwill will be valued at 2 years purchase of average
profits of the last 5 years.

5. Write short notes on any two :
1) Pre acquisition reserve.
2) Post acquisition profit.
3) Inter company debts.
4) Unrealised profit.

6. Where would you show the following in Balance Sheet of Banking Company.
1) Unclaimed dividend.
2) Share premium.
3) Non-Banking assets.
4) Bills payable.
5) Stamps on hand.
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SECTION - C

Answar any three of the lollowing : (3x15=45)

7. The net profits of a business after providing for income-tax for the past 5 years
are 1 340,000, * 28,000, ¥ 42,000, T 34,000 and ¥ 36,000.

The average capital employed in the business is ¥ 3,00,000.
The normal rate of return is 10%.

To cover management cost an annual charge of ¥ 1,000 should be made for
the purpose of valuation of goodwill.

Calculate the value of goodwill on the basis of
1) 5 Years purchase of super profit.
2) Annuity method taking the present value of Re. 1 for 5 years is 3.78.
3) Capitalisation of super profit method.
8. From the following Trial Balance of Laxmi Bank Ltd. as on 31-3-2022. Prepare
the Final Accounts in the prescribed forms along with Schedules.
Name of Accounts Dr. Cr.
T 3

Share capital :

Shares of ¥ 100 each = 6,00,000
Statutory Reserve — 2,10,000
Borrowing from Krishna Bank - 1,00,000
Profit and Loss Account (Bal. on 1-4-2021) - 1,30,000
Interest and discount = 3,60,000
Deposits = 15,32,000
Commission and Exchange - 37,000

Bills payable - 26,000
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Unclaimed dividend

Cash in hand

Cash with R.B.I.

Balance with Canara Bank
Investments

Money at call and short notice

Bills purchased and discounted
Cash credits, overdrafts and Loans
Premises Less depreciation
Furniture less depreciation

Interest on deposits and borrowings
Salary and allowances to staff
Director’s fees

Postage and telegrams

Auditor’s fees

Depreciation on Bank’s property
Printing and stationery

Non-banking assets

Adjustments :

1,40,000
2,70,000
1,10,000
5,42,000
1,27,000
5,00,000
9,01,500
1,47,000
28,500
1,50,000
48,000
12,000
3,000
4,500
6,000
3,000
7,500
30,00,000

a) Provide T 3,000 for rebate on bills discounted.

b) Provide ¥ 6,000 for Income Tax.

c¢) Provide ¥ 1,500 for doubtful debts.

TR

5,000

-—

30,00,000

d) Acceptances and endorsements on behalf of customer % 2,50,000.

e) Bills for collection amounted to T 3,00,000.
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9. Ashwini Traders was incorporated on 1-8-2021 to takeover the running business

as from 1-4-2021. The following was the statement of Profit and Loss Account

for the year ending 31-3-2022.

Particulars

Revenue from operations (Total sales)

Other Income
Total Revenue
Expenses :

Cost of sales
Salaries

Director's Fees
Debenture Interest
Interest to vendors (upto 30-9-2021)
Rent and Taxes
Advertisement
Discount on sales
Bad debts
Carriage outwards
Audit fees

Total expenses
Profit for the year
Total

Amount

4
1,25,000
Nil
1,25,000

75,000
12,000
1,000
1,100
3,000
1,800
2,500
1,500
1,000
500

600
1,00,000
25,000
1,25,000

Total sales for the year ending 31-3-2022 was X 1 ,25,000 divided into ¥ 50,000
for the period upto 1-8-2021 and Z 75,000 for the remaining period.

Ascertain the profit earned prior to and after incorporation of the company.
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10. The following are the statement of assets and liabilities of H. Ltd. and S. Ltd.
as at 31-3-2022.

TR

Particulars Note H. Ltd. S. Ltd,
i Equity and Liabilities :
1) Share holders funds :
Share capital 8,00,000 4,00,000
Reserves and surplus 2 3,00,000  2,00,000
2) Current Liabilities :
Trade payables 3 60,000 60,000
Total equity and liabilities 11,60,000 6,60,000
ll. Assets:
1) Non-current Assets :
Tangible Fixed Assets 5,54,000 4,76,000
Non-current Investments 3,60,000 =
2} Current Assets :
Inveniories : Stock 1,60,000 1,20,000
Trade Receivables : Debtors 70,000 50,000
Cash and Cash eguivalents : Bank 16,000 14,000
Total Assets 11,60,000 6,60,000
Notes to Accounts
Particulars H. Ltd. S. Ltd.
Mote 1: Share capital :
Shares of T 10 each fully paid 8,00,000 M
Share capital 8,00,000  4,00,000
Hote 2 : Reserves and surplus
General Reserve {on 1-4-2021) 1,60.000 1,00,000
. Surples : Credit bal. in P and L Alc 140000  1,00000
Reserves and surplus 300000 200000
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Note 3 : Trade Payables

25421

Sundry creditors 60,000 40,000
Bills payable - 20,000
Trade payables 60,000 60,000
Note 4 : Tangible Fixed Assets

Buildings 3,00,000 2,56,000
Plant 2,14,000 2,00,000
Furniture 40,000 20,000
Tangible Fixed Assets 5,54,000 4.76,000
Note 5 : Non-current Investments :

3,000 shares in ‘S Ltd.’ 3,60,000 -
Non-current Investments 3,60,000 -

H Ltd. purchased the shares of S Ltd. on 1-4-2021 when the Profit and Loss

Account of S Ltd. showed credit balance of ¥ 30,000. The creditors of
include ¥ 20,000 due to H Ltd.

S Ltd.

Prepare consolidated statement of Assets and liabilities as on 31-3-2022.

From the following information calculate the fair value of an equity share.

Share capital :

30,000 equity shares of ¥ 10 each fully paid ¥ 3,00,000
Total Assets ¥ 4,80,000
External liabilities ¥ 60,000
The profits for the past 3 years were .

2019 — 2020 % 60,000
2020 — 2021 ¥ 80,000
2021 - 2022 ¥ 1,00,000

It is the policy of the company to transfer 25% of the profit to general re
The normal market expectation is 10%.

serve.
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B.Com, IV Semester Degree Examination, September/October 2022
COMMERCE
Modern Banking — Theory and Practice (New)

Time : 3 Hours Max. Marks : 80
Instruction : All Sections are compulsory, according to internal choice.

SECTION - A
NN -
1. Answer any ten of the following. (10x2=20)
NIYNSY e TIE CUSORD,
a) Who is a Banker ?
TR 0307 08T cdRdd 9
b) What is a current account ?
Y 2003 0BT ?
¢) Who is the customer of bank ?
1R, 083 MTITTT odRdd ?
d) What do you mean by overdraft ?
LSoTER T, 0B8R0 ?
e) Who are the parties of a cheque ?
S Rioly Raplelebievipletly
f) Who is a holder ?
Hoo8Nerd adndd 2
g) What do you mean by letter of credit ?
0 Y 2005 ?
h) What is hypothecation ?
Bo) R0 SordeRd ?

P.TO.
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i) What do you mean by off site ATM ?
20 ABEBIT .83 987, DT ?

j) What do you mean by credit card ?
50 RE°F (@83 B3) 20ted 7

k) Expand M.I.C.R. and R.T.G.S.
0. 63037°. 2. 630°. d):a’_.g €307, £3.23. OFF. é’b§©m.

) What is electronic banking ?

é:)zj%aggs 23,0807 0TTEI 9

SECTION -B
QTN — W

Answer any three of the following.
ST wesors woocg evgond.

2.

Explain general utility services of a commercial banks.

S I, 08NS AP eodnen BeSny 27} D[OR0.

Banker is a dignified borrower. Explain.

'ma,oﬁdsb n’bdms)dé OOMT. DOD.

Explain the different kinds of endorsements.
&0WTRE DG FONYI) 020,

Distinguish between lien and pledge.
ez B3y 73 MO T 3Ra% Fea sers,

What is NEFT ? Explain its benefits.
Toye00 L5y T QNS IMFBH 0TBERd 9 es3g Todpesng=y HmoR0.

(3x5=15)
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SECTION -C
QTN — T

Answer any three of the following. (3x15=45)
ézﬁﬁs‘@r{%ﬁeg_ e3e5o3 ﬁmdg SUSORD.

7. Explain the modern functions of commercial banks.
83 €3, 03NS SEHRT aao:brr{e}dl Q[OD.

TS S

8. Explain primary general relationship between banker and customer.
WR,050° 2 M TI0 IR T GOB ROTRF, #owocﬁﬁ#&z{ QTORO.

9. What is crossing of a cheque ? Explain the various types of crossing with
examples.

2585 Ce2ded 2083060 9 DT wriedd dea)sar{e}dgt SUOBORBNLR0DN DTOLE, :

10. Explain the principles of employment of bank funds.
w087 %@ﬁ@ﬁi QA03ReATDT a’%ﬁ#ﬁg{ DO,

11. Explain the types of electronic payments systems.
DT Rowoods F oD FEONIR) Qo20.
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B.Com. IV Semester (New) Degree Examination, September/October 2022
COMMERCE [
Goods and Service Tax — | {

Time : 3 Hours Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Answer according to Internal Choice.

SECTION - A

1. Answer any ten questions ° (10x2=20)

a) GST represents one , one and one . )

b) State any 4 indirect taxes were levied by Central Government. E

¢) Rate of IGST = +

d) What do you mean by Exemption ?

e) What is the threshold exempted limit for special category States ?

f) Name the types of GST Registration.

g) A Co. has made supplies as — ﬁ
Supply of taxable goods = 5 Lacs \
Supply of exempted goods = 12 Lacs
Supply of goods under reverse charge = 25 Lacs 5

Supply of non-taxable goods = 6 Lacs
What is the amount of Aggregate Turnover ? e

hy What is zero rated supply ?

i) What will be the place of supply from the direction of third party ? ;f
j) Give the formula for Input Tax Credit. B
k) What do you mean by return of GST ?

- lj Expand (any two) PPOB, RNR, ETLL.

P.T.O,
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SECTION -B

Answer any three questions : (3x5=15)

2. Distinguish between CGST and IGST.
3. Write any 10 items of goods exempt from GST.
4. Distinguish between casual and non resident taxable person.

5. Give the meaning of service and state the characteristics of service.

6. Mention the documents required for claiming Input Tax Credit.

SECTION -C

Answer any three questions :

(3x15=45)
7. Explain the benefits of GST to

i) Traders and

ii) Consumers.
8. Explain any five exempted services,
9. What is voluntary registration 7 Explain its advantages and disadvantages.

10. Explain the conditions for taxability of supply of goods and services

11. Explain the conditions for claiming Input Tax Credit,
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B.Com. IV Semester (New) Degree Examination, September/October 2022
Paper - Il : BUSINESS STATISTICS

Time : 3 Hours Max. Marks : 80

Instructions : j) Simple calculator may be used.
if) Statistical tables/graph sheets will be supplied on request.

PART — A

. Answer any ten questions, (10x2=20)

1) Define time series.
2) Name the two methods to measure the trend.
3) What is process control ?
4) Write control limits of C-chart.
5) Define probability.
6) What is the probability of drawing Ace or King from a pack of playing cards ?
7) Ifn =10, P = 0.4 then find variance of binomial distribution.
8) Mean of Poisson distribution is 4 then find standard deviation.
9) Write the parameters of normal distribution.

10) Define Null hypothesis.

11) Write two applications of Chi-square 1?-distribution.

12) Define t-test.

PART - B
Il. Answer any three questions. (3x5=15)
13) Calculate 3 yearly moving averages.
Year 2005 | 2006 | 2007 | 2008 | 2009 [ 2010 2011
Values 25 156 35 45 35 45 75
14) Draw C-chart for the following data and give your conclusion.
Serial Number 1121 3|1 45| 6| 7] 89 10

NumberofDefects| 3| 2| 1| 3| 3| 1| 3 11 31 4

P.T.O.
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; W - D
1 36T B3 B3 ner cvgono. (10x2=20)

1) 5303, eséodam 339,839,220
2) BR 303333 6:9%305303 Q0T DTIINTIY, BHOD.
3) ~o~61 2’00&303 £9 DOTTESD ?
4) C- 2003303 £9 U338, T S0ENTS), WICWD.
5) Nozgaaeojaéodaa‘% 339, 839, DRD.
)
)

e .

6) 2,00 R eE TELIQ0T DT, ST TozEd THEOI0EI BoLI=A0E D, ?
7) n=10,P=0.4 AN QFTTBCE DBTFOD NIV FOBOBBOWD.
8) TPeTS NITEOT XTIX0 4 QTN WINTT DBOTOITY, TOrBIERBON0.
9) @mﬁmﬁzs NBTHBOD a;aée)ﬁeéaﬁgt W300.
10) 33, 59, FOJODY, 339, 9,%0.
11) ¥2-DBTFOD BB ST OWENFRY, 2TEWD.
12) 15063 CBoRy, 539,800, D40, F
PN — W %
Il 23egozs =T T, Z N LuZoA. (3x5=15)
13) 3 TRF T 3OS FTHBOODTY, ForEEDBOWD.

=@ | 2005 | 2006 | 2007 | 2008 [ 2009 [ 2010 [ 2011
BSneb| 25 15 35 45 35 45 75

RS ot LN - 7

14) 39ns 9,33 C-238, TeITBY, TR0 & ey DEaF oD, EPAD.

55&:309312345678910
d’.@em’ﬁfﬁoﬁ3213313134
15) 20 To9a=) TN B 97w 7 WA xo@dmodoéob;&g{ BOT&EOWD.
16) Zpemos OB0BODE, P(x =2) =P (x = 3) e P(x=4) © WSO

- FOTO&EROWD.
17) 2-Q8003) ROEGRIFRYR), WBAWO.
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B.Com. IV Semester Degree Examination, September/October 2022
COMMERCE

Insurance - Principles and Practice (New)

me : 3 Hours Max. Marks : 80

Instruction :  Attempt all three Sections according to the internal choice.

SECTION - A

1. Answer any ten of the following : (10x2=20)
a) Define Insurance.

b) What do you mean by mitigation of loss ?

c) Who is an insurance agent ?

d) Give the meaning of Bank Assurance.

e) Name any two general insurance companies.
f) What do you mean by lapse of policy ?

g) What is floating policy in fire insurance ?
h) What is double insurance ?

i) State any two benefits of Ayushman Bharat Scheme.
j) What is Cargo Insurance ?

k) What do you mean by Voyage Policy ?
) Give the meaning of Third Party Insurance.

SECTION - B

Answer any three of the following : (3x5=15)
2. Explain the role of private insurance companies in insurance sector.

3. What is Life Insurance ? Explain advantages of life insurance.

4. Explain the elements of fire insurance contract.

5. Explain marine insurance policies.

6. Explain about motor insurance.

P.T.O.

e




A ER AR - 25427
QPN — W

2NSYNYY, Leson Bedy LoD : (3x5=15)

vow

')

PRFAT D) 3 ¢ %CS@ E3OTN AW FOTINY T3, 333 QWOD.

&

3. 2263 D0 0TTED 9 &TT ajs)odraeuarﬁeéa‘% QDWORD. |
4, tﬁfl AP ua:odd Mmozfﬁ%% 0O,
5. 3EL0 VIOCL m@kﬁ#@t D=OAD. ;

6. TdS e wrﬁ\ LWTOAO. ;

NP~ T
(3X1 5:45)

8. codnesots DO 0BT 2 QNG Ded0D D0RRETI0L TDANTIY, QDWOD.

28 ‘ﬂrarzﬂod e£z00NTIRD) ? &N DFo0DY, IF, TOTITHZ, REERAEVELSY
e5TomOmY amuzﬁm QDO

10, 30 RoroDe HomEe0ICHTem 7 FBE SRR LT, W TORNIR), DTOR.

1. ezt 43269 WT0U0
=3 mcusoé £9 wDéJ 52033, 0 E’@@ﬁd (IRDA).

a) X I

b) T,mem ood, PR WP o3peEd. [(

C) Bdrerd &e8d g—.‘
§




. S SR (New)

B.Com. 1V Semester Degree Examination, September - 2021

COMMERCE
Corporate Accounting - II
(New)
- Time : 3 Hours Maximum Marks : 80
Instructions to Candidates : 1. - All sections are compulsory.

2. Use of simple calculators allowed.
3. .Give necessary working notes.
SECTION-A
Answer any ‘Ten’ of the following. ‘ ‘ _ (10x2=20)
10.5) . Define Gootwill.:.
b)  What is Profit prior to incorporation?
c) Give two circumstances under which shares are to be valued.
d) Whatarenon- performing assets?
= e) Whatis Wholly owned subsidiary company?
f)  Whatis pdst acquisition profit?
g) Mention two types of Goodwill.
~h) What is minority interest?
i) Where do you show ‘non - banking assets’ in bank balance - sheet?
. ) Whatis the fair value of an equity share?
k) Ment_ian two featureé of goodwill.

1)  State any two items apportioned on time ratio. -

[P.T.O.
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il 15,000
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Sharecapital 1 ' - = Rs,
WG 1%, prefierence shares of s, 10 each ful) y paid up 1,00,000 i
V000 Vagity shares of 1%, 10 each fully paid up 1,00,000

Fetal Assiasts 500000 |
, dﬁi’if’fﬁi ‘ féﬂj}ii i!i‘fﬁ 2 i ls() 0() O

7 1 T ¥
Enlentions thes yidus of ench ity share of the company,
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Dpenyy ehpesy n ondis . SO W » ' . v 1
& Prepare the schedule 2. Reserves and surplus of Aditya Bank Ltd. from the following

information.

Statutory Reserve: Rs

Balance as on 1-4-2020 2,00,000
b ]

Profit and loss Account

Balance as on 1-4-2020 1,50,000

Net profit for the year 2020-2021 _ 1,00,000
(Before appropriation) |
6.  Write short notes on any two of the following,.

1. Inter company Bills.

2. Pre. acquisition Reserve.
3. Unrealised profit.
4.  Cost of acquision.
SECTION-C
Answer any three of the following. (3x15=45)

7. The net profit of a business afler providing for income tax for the past 5 years are :
Rs. 45,000, Rs. 50,000, Rs. 40,000, Rs. 55,000 and Rs. 60,000.
The average capital employed in the business is Rs. 4,50,000.
The normal rate of return is 10%.
Calculate the value of goodwill on the basis of.
1. Fiveyear’s purchase of super profit.
2. Annuity method, taking the present value ol annuity of Re. 1for 5 years is 3.78.

3.  Capitalisation of super profit.

[P.T.O.
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(4)

The following are the ledger balances of Krishna Bank Ltd as on 31-3-2021,

Name of Accounts
Share Capital :
50,000 shares of Rs. 10 each
Statutory Reserve
Cashinhand
Cash with RBI
Profit and loss A/C (Bal on 1-4-2020)
Net profit for the year
(Before Appropriation)
Bills payable
Borrowings from other Banks
Balance with other banks
Money at call and short ﬁotice
Deposits
Investment in Govt. securities
Bills purchaéed and Discounted
Cash credits and overdrafts
Term Loans
Premises Less Depreciation
Furnitures and fixtures
Less Depreciation

Non - Banking assets

25421(Ney,
Dr. Cr,
) 5,00,000
: 2,20,000
2,00,000 i
5,40,000 !
R 1,40,000
- 2,00,000
: £ 20,000
. 1,20,000
6,00,000 :
1,20,000 ]
- 19,00,090
3,00,000 i
2,80,000 -
6,40,000 :
2,40,000 :
1,00,000 .
30,000 —
50,000 —
31,00,000 . 3100000




I O @i L - 25421(New)

Other information :
~a)  Claims against'the bank not acknowledged as debts Rs. 25,000.

b)  Bill for collection amounted Rs. 80,000 nad acceptances and endoresements
Rs. 1,00,000.

Prepare the balance sheet of the bank as on 31-3-2021 and also the relevent schedules.

9. From the followig information calculate the fair value of on equity share.

. Share capital : ' ‘ s | . ' Rs.
1,000 12% preference s%larles of Rs. 106 each. | o ‘ 1,90,000
20,000 Equity vshares of Rs. 10 each fully paid up : 2,QO,QOO
Total value of Assets ’ g ' 7,50,000
EXtemaI Liabilities ; ; §r , £2,50,000

The average annual profit after provnslon for income tax is Rs. 80,000. The company g generally
- transfer 25% of profit to general reserve. The normal market expectation is 10%.

[PT.O.
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10. A Co.Ltd was incorporated on 1-8-2020 to take over the B Ltd as running b,ufsineas? as 1:}"
| 1-4-2020. The following was the profit and loss Account for the year ending 31-3-2027

Particulars Noteno.  Amount
Revenue from operations (Total sales) , 1.20,900
Other Income Nil
Total Revenue m
Expenses : |
Cost of sales 72,000
Salaries 6,000
Director’s fees 500
Debentures Interest 1,000
Interest to vendors (Upto 1-1-2021) 2,250
Rent and Taxes 3,600
Sales cbmmission 1,200
Office expenses 5,400
Discount - . 1,800
Depreciation | | 5.700
Audit fees i 750
Bad debts ' 600
Carriage outwards 600
Formation Expenses 1.200
Advertisting : 2.400
’ Total Expenses 1,05,000
Profit for the year. 15.000
b | 1,20,000
Additional Information : s _
1. The sales upto 1-8-2020 were Rs. 50,000 and from 1-8-2020 were Rs. 70,000.
2. Baddebts up to 1-8-2020 Rs. 350.

Prepare the statement of Profit and loss to show the e dn .
. . profit prior to INCornporati after
Incorporation. ] rporation and
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1. On 1-10-2020 H. Ltd acquired 3000 shares of S Ltd. The statement of Assets and Liabilities
of'the companices on 31-3-2021 were as follows

Particulars Note No. H.Lud S.Ltd
I LQUITYAND LIABILITIES :
. Shareholder’s funds
Share capital ] 2,00,000 50,000
Reserve and surplus 2 1,20,000 55,000
2. Current liabilitics :
Trade payables : Creditors 45,000 10,000
3,65,000 1,15,000
II.  ASSETS: =
1. Non - Current Assets
Tangible fixed assets 3 2,60,000 60,000
Non. Current Investments 4 75,000 -
2. Current Asscts :
Inventories : Stcok ‘ 10,000 25,000
Trade Receivables : Debtors 12,000 20,000
Cash & Cash Equivalents : Bank 8,000 10,000
Total Assets 3,65,000 1,15,000
Notes to Accounts as at 31-3-2021.,
Note 1 : Share capital :
Shares of Rs. 10 each fully paid up 2,00,000 50,000
Share capital 2,00,000 50,000
Note 2 : Reserves and Surplus :
General Reserve (On 1-4-2020) 30,000 20,000
Surplus : Cr. bal in P & L A/C (1-4-2020) 40,000 10,000
Profit for the year 2020-21 50,000 25,000
Reserve & Surplus 1,20,000 55,000
Note 3 :  Tangible fixed Assets : B Sl
Land & Buildings 90,000 40,000
Plant & Machincry 1,70,000 20,000
Tangible fixed Assets 2,60,000 60,000
Note 4 :  Non - Current Investment:
3,000 shares is S. Ltd. 75,000 .
Non current Investment 75,000 .

Prepare Consolidated statement of Assets & Liabilities of 11 Ltd and its Subsidiary S Ltd as

on 31-3-2021.
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- B.Com. IV Semester Degree Examination, September - 2021
STATISTICS
Business Statistics - II
Paper - 11
(New)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
1)  Simple calculator may be used.
NTY T, Tt EVTOIRENTWTIT).
2) Statlstlcal tables/graph sheets will be supplied on request.
T T¥ DR X R0, B éme%&:i;igl D308 oedn P RTNIRTO.

SECTION - A
QPN -
L Answer any Ten of the following questions. (10x2=20)

Bs D ga’ﬁﬂ?ﬁ gUS0XD.
1)  Write any two uses of time Series.
ToU3,e300 ciRYTe TR SUTOIRERNIR), WBewD. |
2)  Define time series. e _
TUF,eed0 9,35, BRAD.
3)  Name the diﬁ'erent control limits.

ATA At ,3"4""—’ £ @uﬁg?b 350
4) If E‘=1, write down the lower and upper control limit's for C - Chart

C=1 ami C - #3303 3913 Do oS RaD0Z 5 B0mrbBctD,

[P.T.O.
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R ® (Ney
) Define mutually exclusive events with example.

NRBIRIRCAR TOYT AR00 PRINVEY TR0,

1
6 UPQA)= 3 then find P(A")

1 .
P-(4) = 3 SmR PA) cy JorBBND.

7} Under what conditions Binomial distribution tend to poisson distribution ?

IR AuogTivoman QEdeey 3T s OISO B3N W

8)  Wiite down probability den

sity function (p.d.f.) Mean and variance of a standard norma
variate, .

Vo3 SARRY, DITHH Fog, 1SSV &)?3&)?\)’03)6;{' Alefovble)

| S '
9) Ifn=q,q =73 - Find mean of binomial distribution,
TR, 3 ' |
9977 S Qe od 230 Aot Sombimep. |
10) Define F - test
F - =08 «0udesd 9

11)  Distinguish between Large sample test and small sample test,

0B 53 G¥
8 OTBFE DO D) oo ARz Toeg o g, BIX BRQD,
12)  Define one tailed and two tailed test in testing of hypothesis,

sﬁaﬁea’ioi: OO 2,03 003 &2y eDdCSJ‘ |
H > o vwaeiodaaigl 539, 00, DN :
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~Answer any Three of the following questions.

TG 3) 25422(New)

SECTION - B

g - W

(3#5=15)

& NI Fems e BINen evgod.

13.

14.

15.

16.

17.

Obtain 5 yearly moving are ranges from following data.

i=Tavn] mﬁaozs 5 & BOT DToRONRST ToR3LACD.

)
Year : 2001 2002 2003 2004 2005 2006 2007
SRF

Values 62 65 75 8 8 90 95
Res3, '

Distinguish between process control and product control.

ROTTED NCIOE, 2 T T ACLOE, R TR TR

A card is drawn at random from a pack of 52 cards. What is the probability
that (a) it is queen (b) it is spade ?

52 aﬁ:rﬁtﬁa@v 2,000 ToFeE3nes SEFE) BRU SRCHTIAG. (2) © Goth
-

e .- et
(b) 5 JeR@ SATOT RomAECoE T0W LRI,
=

i

The number of mistakes made by a typist follows a poisson distribution with mezan 2.
Find the probability that he makes (a) no mistakes (b) at least one mistake.

22 LT SREIS SZNE FosS, FCRD 2 wliT e s Bl ot Tyve s
o3 O] ! e

T LN Tt
= = ‘ . <
g DY = ey —mRED To@m LoD 2 ondd
cr)»):;a:j:lﬁ 0. e (a) g"g‘/;ﬂe;:‘*dq i (b) s td, o &w{a P :
= -
- 3 o
RoyizmRecdhdchmy FOrLAT0. f

Among 160 selected persons from all over Mzharashtra, 82 were females. Can we
‘conclude at 5% lLo.s that proportion of females in Maharashtra is 0.5 7

N = Py Z gt i~ _pS et =
momend ogEoten 160 B, EnvE, CONTNT. CTT0Y, 82 ZnLAhomT. 5%
g z = £ e ot ] L, — -~ G
RSt Z—b«'&id@ E:‘Qzﬁﬁ;"ﬁ";d @mé MW’LLJ% 0.5 <ot S ore cRLEIT 7
= e
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Il Answer any Three of the following questions.

SECTION - C

AT

(3x15=45).

e Rl BFRIR V0D,

18. TFollowing are the figures of production (in '000 quantites) of a sugar factory:

Year : © 2001 2002 2003 2004 2005 2006 2007

Production : 78 89 95 86 92 - 99 100

(in '000 quantities)

19.

a) Fit a straight line by the least square method and calculate the trend values

b) Draw the graph of trend values and origihal data.

c) Estimate the production for the year 2008.

2,00 NEY T0aRIOH LvsEIoH (000 30BOI) FINT033.
DRE 2001 2002 2003 2004 2005 2006 2007

em@awdé : 78 89 95 86 92 99 100

(000 $otser)

a) TR WnF wdéotbocs RT$Tea0 mdéojaab Gﬁoibfo@ CASEY )R8 VSN
606&:&@0&)6

b) DB ISHY I Swe WIT eSed Texo.
| c) 2008 IRFT ws%déodasgt 0TV
a)  Define

- (§  Dependent Events

@) Independent Events

o TR T T R P e T TS ST S -

(i) ~ Equally likely Events




20,

)

)

b)

ARERTERR M (f) 26422(New)

IS BRETR RN TRTRTAT SERNINELTY
| ¥

(0 eEnond g

3y . ) wed i

() AEed, i

(i) ARV E Gl

The probability that 3 now brands of (ooth prste are neceptable in the mirkets are
20173 and 141 venpectively,

What is the probability that at Teast one of theny i neceplable 7

t0rh bt AL BNt @andd oler @0, Linz denp
xorjnw\mémb ts," mn 172, 173 @8y 1/4 adodis,

IR, B0 womedtn At dmonyis WoylEeodsd S013e), dotbtrcuID,
Define Binomial distribution. Give any three properties of Binomial distribution,

mdmca QIoFOD w9, 43 BRI o2 oowcﬂm@a WBOMOI CIRFTesion
Sedd mrac;fabrm*m ui‘wo

The average weight of 1,000 students in a college is 55 kgs. with standard

deviation of 10 kgs. Using normal distribution estimate the number of students
whose weight will be:

(1) less than 45 kgs
(i)  between 45 kgs and 60 kgs

tom) 5odeedSQ, 1000 O P Foox0 ¥ 55 8.m,0. &2 Inas Lo
[0 $.19,0. AR TXOBRT, wsdrﬁocbm euTodenA.

@) 45 &.m0. hod ﬁé@s:b

(i) 45 8.1m,0. CSJSJ 60 s.mo.nd SEE oy TBROODE O OFny
xio:d everwCleianiy SA0. : 5

[P.T.O.
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21, a) The following dal represents the blood pressure of 5 persons before and afye;
performing dhyana,

5

Persons 1 2 3 4

B.P. before dhyana @ 90 90 102 . 90 100
B.P. afler dhyana : 87 90 98 92 95

Can we conclude at 5% level of significance that Dhyana reduces blqod pressure? (t
4df 2.13)

$UNS WRD 5 BNV 033 LIB Go,FY03 Do I3y B33 183IS,

R EVE 1 2. % 3 4 5
S8 Swod: 90 90 102 90 100
3,33 3033 - 87 90 98 92 95

TR 030 nITIR) 30D InRITae womd 5% TST BT,
QEF CRWTITE ? (1, . 4df 2.13).

b)  Among 40 educated youths, 5 were smokers. Among 45 uneducated youths, 8
were smokers test whether the proportion of smokers is more among the uneducated
youths (use 5% los)

aets 40 cdoRITY 5 wI maﬁomaﬁ%hmad. tﬂéew‘.’zg 45 w3 30Tt 8 £
= mmmaﬂ@m%d. BRTITININY emm_é eéeég oi:omfde; B3B[ode |
0% Toesh. (5% WTIT Y, cugcinens). =

22 Construct_)—(—chart and R-chart for the following dates and state your conclusion,

Sample No. Sample values
I 27 22 o8 10 12
2025 24 96 14 32
316 24 g 18 31
4 18 12 9 13 17
> 16 97 a0 egp g .
6 06 18 14 26 13
T 48 19 35 .o 32 |
§..12 - 09 2 4

30

(Give for n = 5, A,= 0577, D, = 0, D, =2.115)



R ECT Ay
BINS Tod X
OTFE
Fods,

] 27
2 25
3 16
4 18
5 16
6 06
7 43
8 12
(Bm%; mond n =5

VA=

22
24
24
12
27
18
19
09

(7)

25422(New)

BTNV Tin0 T3y BTy DrerchEE) Eee0.

OTITFE EnsHd

28
26
20
21
20
14
36

24

10
14
18
13
16
26
28
20

12
32
31
17
12
13
32

30

0.577, D;= 0, D, = 2.115)
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B.Com. IV Semester_Degree Examination,,September - 2021

COMMERCE
Modern Banking Theory and Practlce
(New)

 Time: 3_ Hours: Maximum Marks : 80
 Instructions to Candidates:

All Sections are compulsory according to internal choice.

Section - A
DR - €3 ‘
1. Answer any ten of the following. ' ' : : (10x2=20)

i S asee e e e

w6503 BT, VSO0,
a) Define the term 'Bank’
w08 BEB w38, Je@O.
b) Who is the.customer of bank ?
239,083 M2 9,BTTOWT 03RTD ?
¢) What is right of set-off ?
_ BROTOEIROS T, DOBTED ?
."d) - What is state cheque ?
eSBE 0T IR, Q0TITED ?
e) What is crossing ?
~ Beded 0mTeRd 7
f) What is pledge ?
NOD HOTBER ?
g) Who are the parties to a cheque ?
236371%363?5 FIMIL 03533d ?
W)  Customer is an ordinary creation. Why ?
@8 RN, WON - 9F 7 '
i) What is Gamisnee order ?
| AN3 g 2ossed ?
' [P.T.O.
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S

pLLELi

w 3T ey
é\,i\:\;\‘a‘-k‘ ~

) Expand the tem =2 MICR

e e «? AT D
=% 3 agst = OO
‘5’:\’\ BN N . RN % S0y

D What s mdozsmxem ?
3. ~> - = ~—¢-: o=

OO SRR \ AN

Section - B 3

™ §
: ;D{:\:?i - ‘.
- § i
w Answer any three of the following

2
J=3 si‘:eu‘ *::ﬁ A0,

5. Briefly explain the debtor and creditor relationship between banker and cus:o,-:?f‘
ARSI MEIT IS ST womS - =IO TOWI[NTN 0

1 L
[V

~
AN

,'r’i,

tsd
L]

Explain the general utility services of commercial banks.
e W0 Sheraadnt ISAY Wi DSVD
i g

4. What are the merits and demerits of ATM ?

SRS Sole

STt

SRR SRR TR Alelevbta
. Wha sin in i x .

5 t is general crossing ? Explain its different specimens
QOTIE S .
- qu?v@mmmmmmm
6. Distinguish between pledge and mortgage : ‘

‘?c a2 o

= -»C-t, (e b=

g ):W*NW S

~—
AT DB cEIRT TP F:I w3ewd
g O

Section - C

N -
Answer any three of the following.

gemd SRTE L3010, | 3 15

Explain the traditional functions of g
\ TorE, 1R,CRNE W R
Soeds, RCRNT XCT,THowE mc&s_ﬂ% e 1l banks
Explam the prmcxples of emplo\'mem of ba: Sy
1\ ﬁ]nd&

" -. @ aa
a& ¢§




R O R @3)

9'

10.

11.

Explain the different types of endorsements with examples.

bo0WTBE NG @@dﬁe&a’% YVTOBOTHBNBRODR DIOAD.

Explain general relationship between banker and customers.

¥9,080 0B 119,HTT SEOII ROIT; NOWOTNTT) DTORD.
Briefly explain the forms of E-Banking (any five).

WO, TS 1, 0307 SRRBATIY, D@OAD. (CIRHWITT ).

25425(New)
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B.Com. IV Semegqep Degree Examination.
| Xanmination, September - 2021
COMMIRCE
lnsur:mcc, Principles ang Practice
(New)

i Time : 3 Hours

i mstructions to Candidates: Maximum Marks : 80

Attempt all the three sections according to internal choice.

” SECTION - A
DY - €5
Answer any Ten of the following,. (10 x 2 = 20)

L. a) Whatis life insurance ?
e D0 QoTTed ?
b)  What you mean by general insurace ?
FREmIE, S350 0TTeRd 9
¢)  Life Insurance Corporation of India in which year Nationalised ?
po0Se00 23053 HWR AN oInT T maé‘cﬁdtaﬁmmmowm v,
d)  What is double insurance ?

YRl £330 Q0TTER 7
¢)  What you mean by Jettison ?
7o) B0I00NE SoTded ?
f)  What is crop insurance ?

3% 225 oomdesd ?

[ET:0.

i Sl s



v
Lorir-shely

AR RS ot 2

2  Give the meaning of valued policy ?
adjat)d ARFOAT PO BBHF SYAD.

h)  What is fire insurance ?
), D 20T ?

)  What you mean by marine adventure ?
TELO TOBA 0TTERD 9

J)  What is motor insurance ?
TOT/D VR ROBTEID ?

K)  What you mean by cargo insurance ?
R0 AR 0TBeDd ?

) Expand IRDA & AIG
IRDA 2023 AIG Q=020.

SECTICN - B

QTN - W
Answer any Three.

2. Which are the nationalised general insurance companies in India.
TRUSY, CoRORRAPAT TR, D omANR S9MD
) .
3. What is the procedure for appointment of [ife insurance agents ?
zem O e2ou8 Fedros 3,030 Wi o080
) .
4. Distinguish between life insurance & fire insurance,
ELOEANENTY SN I A T WEO.
5. - Explain need of marine insurance 9 .
B QAo eﬁa%ﬁéw)ai%{ WD,
0.

"Pradh i i ' i
anmantri Phasal Bhimg Yojana" write a note on it

= —
SIS0, TR wexn cdrexs 803 Lized W30

25427(Ney)

(3x5=15):
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1.

 SEEMEEEIE @

SECTION - C
don - ¥

Answer any Three.

Explain the role & importance of insurance ?
Sebob T8, W STET 20 DTOAD.
Explain the various types of fire insurance policies ?
nod 2500 en 50 DHLAMYEY DT0A0.

Ww‘ S-r)ux-\d'uJ
What is marine insurance :
gt il QoTOHRD
What 15 burglary 1
A oy e

the different t¥
:}E’"‘Gd wu\){'dﬁv L—Jﬁ wo,q{)

Expl pes of life insurance pchcxca 7
xplain

s, 45 g
. i
»t.’;f' a&w.w W e Yt

W AR e e e

25427(New)

3 x 15 = 45)

2 And Explain different types of marine losses ?
9 L FELO DFDYTOT DT De3cd SRR DO,

ineurance 7 Explain the various typcs of polnucs issued under burplary policy
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Time : 3 Hours

12426(New)

B.Com. IV Semester Degree Examination April/May - 2019

COMMERCE
Insurance Principles and Practice
(New)

Instructions to Candidates:

Attempt all the three sections according to internal choice

| Section - A
TN - &9
Answer any TEN of the following.
dezos @BIF YVZOAD.
What is insurance ?-
QB Dow3ed ?
What you mean by average policy ? 4
ZooRD TV Q0TI ?
What you mean by barratry ?
T, 0D ToO Q0TTESD ?
What is motor insurance 7
ToBES DR DOTTERD ?
What you mean by cargo insurance ?
293y 23 Q0BT ?
Write any two objectives of crop insurance.

233 HHod BRYTTECR HTRE VRS PRD.

Maximum Marks : 80

(10 x 2 = 20)

[P.T.O.
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h)

)

k)

)

n

6.

@) 12426(New)

What is burglary insurance ?
LUEELE 2oTBeRd 7

Write any two principles of insurance.
R QTR aooh IRV LSOO,
What you mean by insurable interest ?
axnodeen 93 Q0T8I 7

What is personal accident insurance 7
Sobdy eTFe3 DR oTBERD ?

What are the perils of sea ?

gEOF Bowodas Rowoo3s SOTTVEID 7
What you mean by term insurance ?

o) IR Q0TTED 7

Section - B
dgenR - W :
Answer any THREE of the following. @xsS= 15

gezors a‘madﬁé YVBORD.
Write five features of insurance ?

Q0 DT rOrRVENRYRY w3owD.
Explain the procedures of taking motor insurance policy

| t)b

Briefly explain the lawf ' f life a
¥ explain the lawful objects and free consent o life insuran ontract.
ce C

e b Yoo SN RAL b T8 IS
T TORVCOH T eBR D
paL:
Explain elements of fire | Insurance contract, 1 -
ol SRR v am@osmm DTOAD,
Classify the marine j

e



(TR ET R IR T A3) 12426(New)
Section - C
QIen - 5

3 x 15 = 45)

Answer any THREE of the following.
Wesen [evE v8020.
7. Explain importance of insurance in India.

PRTSTY Dot ST B0 ITO0.
What you mean by life insurance ? Explain different types of whole life policies ?

e DR DOTTED ? DG Be3od 32303 me&ﬁ#z\g DWOD.
Explain the implied and express conditions of fire insurance contract.
O TR LToBEY. Wi Nraza’ DALY AE aa"de’oﬁdm awaﬁb
10. Explain different types of marine insurance policies ?

1S RDOH D T,3000 mof%mﬁaﬁg{ QTORD.
11. Explain the various types of policies issued under burglary insurance,

FRIT. DDA, Deros B &, 500 TOVANTT) DeIORD.
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B.Com. IV Semester Degree Examination April/May - 2019

COMMERCE
Advertising and Sales Management .
(New)
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:
Answer all the questions subject to internal choice.
~Section - A
TN - &
(10 x 2 = 20)

o
.

Zaiswer any ten questions:
ezt T T[gnen wwgoro.
a)  What is advertisement ?
228 TDED Q0TTEI 2
b) What is advertising copy ?
DT T8 DOTTERD ?
'c) What is advertising creativity ?
22lotTR) X WT0E gee QOTITERO 2
,‘d) What do you mean by full service agencies ?
.. Tarr Hewe RoAnomvesd ?
©)  What is advertising budget 7

m&aﬂc‘wo ZoonE Te, DHOTITE

[P T.O.

1?3«" CIRRIL Ao ensi o bt 2020 2o it Bvaa ..



T et dpe @)

)

k)

)

State any two basic prihciples of CAR ?

‘ N
T FOFOH AW QTR BN TROAD.

Expand : AIDA

a;gam D ARN.EB.Q.

What do you mean by trade promotion ?
TR0 ByWSFH 0TV ?
What is headline ? |
Be&FE DoTTeDy 9

What is point of purchase (POP) ?

0.%.2. 0TTeR 9
 What is ~publicity ?

2590 Q0TTER) 9 ,

What is the percentage of sales method ?

TINT B33 AR DOTBER> 9
Section - B
DN - W
Answer any three questions: '
WeFon SaRDd BIner LuZond.
What are the features of Advertising ?
DHTHET rbsaesisaneaa@sé) 2
What are the esseﬁtials of good appeal ?
Rt IR &8, TN 92

Write a note on agency client relationship.

EbotToEd :ﬁo*:é) D MET IBOT ROWOBNY LTFH w3

&

What are the factors influencing advertising bud

get ?
TRt Boong R FHoees

TR WedHs L0Bneew) 9

Q0.

i
;
£
i
‘i

IL‘:‘
L
%'.
£

Bx5=15




AR =

0,

9.

10.

1.

What arc the ohjectives of sules promaotion
{"JJ(J(-‘IJJ ;;,?::g;""f’lt:) ubt‘l”lzr‘;";m’ r"

Section -

’/”
s C4 Nt

12424 Newi )

(3 x 15 = 45)

Answer any three questions:

weeT TIRTs TR iz,

Explain-the different classification of advertising,

ERlCORET LT TRTI Lb,

Define advertisement copy. Explain the various coments of an zdvertisement o

with example,
/Jﬁ)"ad td/’au / ”-'Z;’;”

oyt o — s g - Y aatibd
2. ﬁca)) Gt idd, CS08, ZJ’J;JI”Z/ZJ ’Z.;IQ:JJ zfv/.fy

A ST
?«UZXJ. pad wju ?ﬁ 5

LmDAD,

Explain the various kindg of advertising agencies,

¥ 2

oy WJU'UG ma, CoZ3 74r»r/'u LIOND,

‘xplain the various methods of advertising budget,
CRltTRES V0N T i LRI, Wi,
Explain the tools of consumer and trade sales promotion.

Ty @8 SRtokl ZEIZFe @Iy Tn, Tl ZEEFL TOEONWE; Laiin,
o E o .

)‘;)-‘l,
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B.Com. 1V Semester Degree Examination, April/May - 2019
COMMERCE
Corporate Accounting - I1
Paper - 11
(New)

Time : 3 Hours Maximuom Marks : 80

Instructions to Candidates:

l. All Sections are compulsory.
R, AFRARD T3 0TALTI.

Use of simple calculators allowed.

3
o

TREIRTED Meegadood, YR wetumR.
3. Give necessary working notes.

U T REETTR) R0,
Section - A

Sslanty SRS

1.  Answer any TEN of the following (10 x 2 = 20)
ezor TIY LUIOR0.
a)  What is profit prior to incorporation ?

Rrodes Gear woyd LoTdeD ?
b) Give 2 items apportioned on sales ratio.

) d @ '.,',"('v"'
‘FnooL BT T, TOHLITS 2 YW B0
of the Principal books of accounts of a bank.

¢) Mention any 2
-l " - ? e :
W08 2 &, CRTY PIIT eI Be0.
1g assets’ in bank balance sheet ?
RN A, TR0 ?

R, 087 e F3,90bY, ', 09:3T BANS
value of goodwill.

d)  Where do you show ‘non bankir

¢) State 2 factors which will affect the
SedratPy g 2 ORIl echd LoTnvRl e,
[PT.O.
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f) State 2 need for valuation of goodwill.

4 (

12429(%5s,,

3e2FRPOB BPOEI) APFORIET HVREY $BTTENTI, Te90.

g) What is wholly owned subsidiary company ?
TPEFAOI ATI0IR 30T 20TTEd 92
h) What is consolidated balance sheet 9

30,0088 s B3,3030TTed 9

1)  Expand: 1) COSA 2) MWCA
D[4 1 1) COSA 2) MWCA
j)  What is normal rate of return ?
mmsé S03TWT 0TTed 9
k)  Give 2 examples of monetary assets.

Beowrd GANY 2 SOTRBORENTRY, ERR0.
1)  What is faif value of share ?
3e03 Rowy B8P, HoTbemd 2
Section - B
o -
Answer any THREE of the following,
(ANDIA] 1oL} émgﬁ;%b.
. Average profit Rs.1,60,000
Normal profit Rs.1,20,000

2)
Calculate the value of goodwill based on 4
profits of the last 5 years,

ATORO @3 8n.1,60,000
mBRE, o3l 6r.1,20,000

4 THT NOOAT %00T 5 S pfanyste)
FOREGE0D.

noZ Cuyin ety et desr

years. Purchase of the average super

.
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‘I::ﬂ (-CG- Llf:d. Was incorporated on 1-8-2017 to take over the running business of
amn Co. Ltd. from 1-4-2017. Total sales for the year is Rs.1,20,000. It is

ascertained that the sales for January & March 2018 are I% times, the average sales

1
while June and July 2017 are only = of the average sales. Calculate the sales ratio.

ST .0 O, 1-4-2017 Comd 0T Zonet

rAITINS

9. . 1-8-2017 vezo

Z0.
wI[O DD = 2018z

LG, SR LD @noetd ©e.1,20,000.

- 8 =n 1 I
———gy . - .
AN AJ,:L,N@ z :,C"u” 1-; d.!_-m m u‘p‘-:f -_-’\5‘3 u;a; 20]7 G -)..:C: f; ./::*G E
555_;? o0 30RLACHSHNTE. SRty sHTH j::; 20000

The following are the particulars relating to a Limited Company.
10,000 equity shares of Rs.10 each fully paid

Rs.1,00,000
Total Assets Rs.3,00,000
External liabilities Rs.1,40,000
Proposed Dividend at 20% on the above Shares Rs.20,000

From the above compute the

a) Ex-dividend value and

b) Cum-dividend value of the equity shares of the company.
1 NS DTONED .00 DG FoTIN ToWORAD,

e A d2.3,00,000
e} i
T, [REMOERW 0n.1,40,000

Bl laverie =3nd 5(&{1% UJQ.],O0,000
RN L £ 7 </ 3

y)
20% o=, TR0 Zecony 09T worRod g».20,000
Zoeds Teo0 FomRod R Ny

a) LRy g2rtgo m“o &'Leb
b) wamos BRdT mPY,EI 20T3%B0W0.

[P.T.O.
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From the following data, Caleulae the cont of sales adjustment [COSA] under i,
i 5,714]-’)4

Vartioulars, Historical Cosi | Price Index
[ Tnventory on 102004 | 108,000 360

Purchases 6,60,000 400

ventory on 31122018 | 1,480,000 430

L 2 P

CUIvS wrlubrlisst) v
s

i

8
S
(83
=3
O
!
&
o
N

ST t41 Um:fcf;% (o] #mﬂod,
Lorzio 1-1-2018 oerds | 1,08,000 360
Hite0) 6,60,000 400
Ly 31-12-2018 dordy 1,80,000 480

Write short notes on any ‘T'wo of (he following

1) Post Acquision Profit

b)  Contingent Liabilitics

¢)  Inter Company billy

dy — Non-Performing Assets,
vieoned Wl it wsqpﬂ tWBom0,
) mafpes Hodd e

) v Lol

¢) oy Yoo aﬂao&sm.b
d) et vy

Vo B, vt (COSA] sty vmd) 51000 rstge Celolen
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Section - C

&:paﬁ—ﬁ

Answer any Three of the following. (3 x 15 = 45)

. v Mdﬁd YV3DD.

?Ssigt}};: F}Fra(ciiers Ltd was formed on 1-7-2017 to takeover the business of M/s
raders with effect from 1-4-2017. The following was the position of the

~statement of profit and loss was prepared for the year ending 31-3-2018.

Rartichlars ' Note Amount (Rs.) Total (Rs.)
)  Continuing operations
a) Revenue from operations (Sales) 1 ' 9,36,000
b) Other Income - . 2 ' .

Total Revenue(A) ' - 936.000 .
I) Expenses '
a) Cost of sales ' 3 2,66,000
b) Employees benefit cost ' ’

Salaries and allowances 1,60,000

Directors fees ' 18,000 1,78,000
¢) Finance cost . | 5

Interest on debentures 18,000

Interest to vendors (upto 30-9-2017) 10,000 28,000
d) Depreciation and Amortisation 6

Depreciation 64,000
€) Other expenses 7

Rent and rates 35,000

General expenses 48,000

Commission on Sales 56,000

Advertisement 14,000

Audit fees 10,000 1.63.000

Total expenses [B] | 6,99,000

2,37,00

Net profit [A - B]

[P.T.O.
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The following additional information is available.

1) The average monthly sales for the first three months were Rs.
s for the subsequen:

Whereas the monthly average sale
Rs.3,20,000.

i) Rent was paid Rs.2000 per month upto 30-6-
increased to Rs.3000 per month.
Prepare the Statement showing the

M/s ‘Rz ’eédc‘ Q. 1-4-20

17 domd RUSNARIIN ZJD"‘:
R0 ué.:cS 31

-3-2018 g ima?ﬁm%'bd JIRET Gmﬁ "'Oe‘u

ToQ
QTTnH s S 033 JR3(3r.)
D 2028 wmabdery
a) 3,308 ssmaody (8 Bnoew)
D) a3 sman e
R WY Bmad (A)
) e
a) Sweowug 2,
b) AWODCD s Dy 4
sowy DX W s 1.60.000
ATEFTIT Doy
C) Trowoas 93233; 5 18000
AOTZ MY Foed wa, 18,000
Snoowmetan ﬁm‘:’: wa (30-9-2017g =3r) 10,000 |
d) S 3 eoERs e 6 ",
e) s Wb 7
WAk D) 39 35,000
RN, DRFT 48,000
SRoow BedI B 36,000
DeTID 14,009
& TodeeEs By 10,009
7 En) &)wrmﬂb [B]

2017 and there

profit prior to mcorpomtmn of this C
CSU“ S a.

124200y,

Dary L
ﬁ'em‘v Wie
~ & = -~
kﬁ:\r 1iq “V«L

S Lo

el aTaTe

2.66.,000

1,78,Q00

28,000
64,000

3,000
37,000

ST Dieve
L QU0

SR o O e RIS

e e e iy
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&"2{3‘\? Eim&oéod);ii FINT03 o3,
) Secoded swd sorvry xoaxo Sorya SRoey 6e.1,60,000 ede 0T
ORT 9T[OOID) NoOXO BonYs Rwoeks 8e.3,20,000.

i)  30-6-2017 3 =38R D3 Sond wedr ©r.2000 =HF SoITT ©=OR TS
Sond wmanr de.3000 Go3 suReNS.

BT FReoTes omE ool Aoedd ST30R), FOIROLD.

8) From the following information prepare the profit and loss account of Hubli Bank
Ltd. for the year ending 31-03-2018 and the necessary schedules.

Name of the accounts Amount (Rs.)
Income on Investments 40,000
Interest and Discount 4,60,000
Interest on Balances with RBI 20,000
Commission, Exchange and Brokerage 1,60,000
Profit on sale of Investments 20,000
Interest on Deposits : 1,30,000
Interest on Borrowing from RBI 35,000
Payments to & provisions for Employees 1,40,000
Rent, Taxes & Lighting 40,000

30,000

Printing and Stationery

Advertisement and publicity 12,000
Depreciation on Bank's property 8,000
Directors fees 24,000
Auditor's fees & allowances 16,000
Law charges 10,000
Postage, Telegrams, Telephones etc. 4,000
Repairs & maintenance 14,000

2,000

Insurance

[P.T.0.
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Other informaton

. s ; av R .
g)  Make provision for weome tax Rs. 15,000

b)) Provide for bad and doubttul debts Rs.12,000

LY . . “ n ‘
¢)  Provide for rebate on bills discounted Rs.8,000

@) 'The directors have proposed a dividend of Rs.40,000

WP wwont 0. R dowodrd & NS [nbdcwodm 31-03-2018 gody IBeed <y |
s:b&i S, aedodoRy, 038 R s IR T,500 ScdRdAD.

IRy B

[r3 (3R.)

TRABNY RordT Lmed

IMARONES Aeh

RBI IQEOs vl ®eed Soed wg,
TeRe %) HIRD

TWHLE Bnoowd Bed ooy
BeRednd 0O wa,

RBlodoed rwbinei mons Soed W
A00nen 8K R 3R00AT
AR, 301 Ry & uore

BT, WB TN, ek

088 SATY PRoedd X3ge
WokotTo) FH T

QU By, |

U, WoBRGEo By wizy W
TOROOT FTLD

a0, Bod SN wémea‘

bedot w0y R0k

AR

40,000
4,60,000
20,000
1,60,000
20,000
1,30,000
35,000
1,40,000
40,000
30,000
8,000
12,000
24,000
16,000
10,000
4,000
14,000
2,000

12429(New)
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9)

©)

9 Smed Bormn de.15,000 3rioom.

b) @08 = Xo

FORIT mORA 82.12,000 ItO0ZAG.

c) TOOBRY Frededors D03RowEMD cira-.S,OOO 300,

d) 2TerZs T2.40,000 mzpaosamgt RRWATIVT.

From the following informat

liabilities as at 31-3-2018

b

" 12429(New)

ion prepare the consolidated statement of assets and

Particulars

Child Ltd.

Note Parent Ltd.
I)  Equity and Liabilities
a)  Shareholders fund
Share capital -3,00,000 2,00,000
Reserves and surplus 2 1,15,000 95,000
b) Non-current Liabilities |
Long-term borrowings 3 1,00,000 -
Trade payables 4 75,000 87,500
Total Equity & Liabilities 5.90.000 3.82,500
) Assets
a) Non-current assets
Tangible fixed assets 5 1,50,000 1,25,000
Intangible fixed assets 6 50,000 1,00,000
Non-current Investments 7 2,05,000 30,000
b) Current Assets
Inventories 8 75,000 37,500
Trade Receivables 9 1,00,000 70,000
Cash & cash equivalents 10 10,000 20,000
Total Assets 5,90,000 3,82,500

[P.TO.




LA 0
Notes to Accounts i
Particulars Parents Ltd. Child Ltd,
Note 1 Share capital
Shares of Rs.10 each 3,00,000 2,00,000
Share capital 3.00,000 2.00.000
Note 2 Reserve & Surplus
General Reserve 30,000 20,000
Surplus on 1-4-2017 35,000 30,000
Surplus for the year 50,000 45,000
Reserve & Surplus 1.15.000 —75
Note 3 19 Term Borrowin
12% Debentureg 1,00,000 --
Long term borrowings T\,O 0,000 --
Note 4 Trade payables
Creditors 60,000 87.500
Bills payables 15,000 o=
Trade payableg 15.000 87.500
Ot angi S
Bu’xldings 1,00,000 75.000
Machincry 50,000 50,000
Tangible Assets 150,000 50.000 \] 25.000
lote 6 )
Goodwill 50,000 1,00,000
Intangible Assets M 00000
| MMMM%
15,000 shares in Child 144, 1,80,000 i
quemrncm bonds 25,000 30,000
Nomcurrent'lnyeﬁ;tments 2,05 5.000) m
b — ol




SR

A "
AL AT BN
A

€1

b St e e
LlanidNE AT W
1° ™

kg

» S T 2
oy 2880
:5,2 :.. ::: \E‘C '3:&1,‘:3 Wi
2
A * WS
B Bt h)
b O s
- ' 5
Mv\"\“\
‘\.-.,’v\i:‘ A

;m"*:; :sgm ot

TD VY D wRRDARD

LD BATRS

WD omo S Qv

b Rt I o .
vaal!#t 3 “*mm"‘; N = L0
M 3 :
L.. WO =3 AR
R
Q’G{R‘ o3 O
=t PN

AU AN DR AT
Bugng N
SRR v

ﬁ.’mﬁ&;‘-’.\;s ’x\&{ﬁiﬁ

BN 6 SRy ARrigs
RraRy o

&
e ﬁ&aﬁm

(12)

Ly

6

8
0
10

SR AR

n’{da&‘ o,

3,00,000

1,50,000
50,000
2,05,000

75,000
1,00,000
10,000

5,90,000.

ot O,

%]

2,00,000

3,00,000

2,00,000

30,000
35,000
50,000
“1.15,000

—

100,000
1,00,000

60,000
15,000
1,00,000
30,000
WU

50,000

"‘b\\

20,000
30,000
45,000

95,000

87,500

-

87,500

75,000
50,000

[ ;hb,ﬁz ih
ettt

1.00,000

1,00,000
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*%f* 7. @038 Bradry

go, 9.815,000 Secorivy 1,80,000 --
0T0E 1353 25,000 30,000
wdede3s Brasr 2,05,000 30,000
o 8 ooy
xoBrivd 75,000 37,500
R 75,000 37,500
BT 9: o Boartd ‘ |
pani3janleled : 1,00,000 60,000
wosg Boanw ‘ - ,16,000
w0, aoRmih : " 7T1,00,000 70,000
uair 10: Snd 3%y Snsd msRRoRw i
g i ) 10,000 20,000
S FoRy Srcd IR " TTT0,000 20,000

. TBROWOEIBNWD

e P R e .

a) Jedoes* O. aic:‘ ®. éedom?ab Q. 1-8-2017 Bod DdeHEI.
b) yor o *?abazs T Q.. 1 42017 gomd 8n.17,000° érao&)d

c) de.10,000 Bt O.3 "'aomdd Spg Fosonsd CycleR BRRTE Dedotz* . (I
lolzlev:ing |

~d) ©r.5,000 B o' O. Q0T OO BRBT Koo Bedows.d RoBONGS, Elolziev:iag
TG E =RRT IoBonY VS + 25% O, a3,

10) F rom the following mformatlon calculate the value of each equity share of a
- Company.

Preference shares of Rs.100 each fully paid Rs.1,00,000

10,000 Equity shares of Rs.10 each fully paid  Rs.1,00,000
- 5000 equity shares of Rs.10 each Rs.8 paid up Rs.40,000

Value of total assets _ Rs.3,90,000

External Liabilities | Rs.1,20,000

T R = gy

|
|
i
|

[P'T" O‘
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B.Com. IV Senlestelf Degree Examination, April/May - 2019
BUSINESS STATISTICS

Paper - 11
Time : 3 Hours . Maximum Marks : 80
Instructions to Candidates:
il Simple calculators are allowed.
NOF 5 DOSBeEIT SVTO3PENTLIBEIR..
2. All Workmg steps should be shown clearly.
D FOXT ooo:a“r{@m NF N Bpe0RIes. :
3. Mathematlcal and statlstlcal table will be supplied on request.
o3 0% R 9080, 3 &mewswm T30 Foedn Fpg RardTT>.
-Section - A
RN - €

1 Answer any TEN of the following (10x2=20)
Y BR BInen wv300. :
. What is scatter diagram ?
WOT Tearnwss, Hom3eRd ?
?

2. If XY@ = 0, What is the value of Spearman's Rank Correlation ¢

. Xd =0 u5d 2eoDT R Byerd FBIoWORH S ), 2
3. Write the. dlfferences between correlatlon co-efficient and regression co-efficients.
. ABROOTT ROF08 eCY) 8&0230[03) NPT IBONS 533 dc'\b :3033&13 i
Lo Ify=026x + 7.94 is the regression equation of Y on X then fin when X

= o
X 33683 Y 8 &o@Bom 3a0eadosy vy = 0.26x + 7.94 |men, x = 6 a8 Y

VSR FomdBBOND. e
Dlagrammatlcally represent Business Cycle with stag

URIImN Bosndeoon @[Eed HET, WEA

Name two methods of measurmg trend

.ww@odoa'b SP030T DOB) DGPTSR BI0A. S

Ny Index Numbers are known as Econorr;c@o; 300DCNOBT ?

An g 239, B
P08 Boag vy 0F GOF :

3 p

DB P
2 P = =625, then find ©

P : L 28000, .
5y =210, plz? =625 ogg P, o WP [P.T.O.
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-\ = /5 , then find P(L,)-
e 175 = 5 B -Ii(gl/)s izssa P(E.) FORGODD.
S = {E1 ’ Eg}, P(El) - & Secti(n; B F
geaif el (3751
. Answer any THREE of the following.
¢ S3neR GU30R0. , iy
13. Zéz)ﬁriju:mth?regrgssion eqixation of Y on X from the fo;;cj);\/mg data.
3ENT DyRT, X @ e Y T 50RO Bo0e3ges ForI ;
X 2° 4 :3 .6 8 11
v 18 12 10 8 .7 5
14. Calculate 4-yearly moving average for the following data.
49NS R8P0y, WaFed WUS R0RD BOTIBLROWD.

et s I —

probability that problem is 2/3 and that of B solves it is 3/5. Fir® ||

Year 2000 2001 2002 2003 2004 2005 2006 2007 |
TIRE ' i
Profit (in Lakhs) 807 85 827 90 100 95 85 8
. oud(eRBY)
15. Calculate the weighted A.M. Index number from the following data.
BINS RS T AT ATROIT ATRO LIS W), 0853, FOTIBOW0.
Item A B C' D E : 3
SRR . |
Expenses (in %) 25 10 20 15 30
SRAF (%) ,
P . g
ee 00 120 30 50 25 4
2005 100 30 40 - 20 50
16. Probability that A solves a i
1) Both of them solvés ‘
12 None of them solves - ;
i) PR 008, BRR How

_ RecdH3 '2/3, B ®&xy=
AR, 0805 0yt warss

ot
o ) AR oings wang RTOT Moyimnecdsdes
o NP 1Y = et A e

| SHOITC0S, BoBBClYD.

=

ROWTDecdsE 3/5 k.




L 20

18,

T R T T T e

B 5 i

17.

|

19,

? TR R A T TR AT 1

o0 >

What are the uses of Index Numbers ?
e, 03T wwmmmq W30,

Section - C

wn - 3

Answer any THREE of the following, (3 x 15 = 45)
YT e IINeR euzon.
Calculate Karl Pearson's co-efficient of correlation from the following data and
comment on the result. .
FINT o ks a\:‘r QODTATS ATRoWoTT mﬁoﬁjm FOTOLROWO T VF OB,

wWCoO.
X ' Y
80-90 90-100 100-110 110-120

40-44 3 2 4 7
44-48 - 2 3 4
AF=69: . & L 4 5 1
52-56 2 6 4 --
56-60 3 4 1 --

Fit a parabolic trend of the form Y = a+bx+cx? for the following time series and

estimate the production for the year 2017.
BN ;3?,::3'33 ToSeod Fesdre Y = atbx+ex® BROOK" B, 300, cﬁﬁ SRad. 20174

en,:% J::S‘-JJ tﬁomz&ub

Year 2010 2011 2012 2013 2014
DSy

Production ( ' 000) 12 3 08 09 13
S

For thc following data compute Fisher's price index number and show that it satisfies

time reversal test and factor reversal test.
g T, TIoR* 136 R, 08T, FerElroid0 =03 o0 A0 ToUIF R Toeg

%% uTgsrs Doomses aa‘on? 3 mmw 20T FREOR.
Current year

ltems Base year
SRty &z0 SR _ ag,gés zs_axr
Price (Rs.) Expenditure (Rs.) Price (Rs.) xpenditure (Rs.)
Se3(dn.) 023> (TR.) B3d(Te.) DBF(TR.)
96 768 90 900
432 100 500
;(2) 1080 160 2400
100 1400 88 704
[P.T.O.
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21. a) What are the steps in the construction of consumer price Index Numbey 9

22;

®)

a)

b)

e =, nuazsa 0% Te3I0P Soéﬁeéab wéo&a@

Construct Marshall Edgeworth's Dorbish- Bowleys and Fisher's Price Index
Numbers from the following data.

BINS T,EG z&mairef—am;asqﬂr, gt Wed EVeCY) QRO WS Mwasoﬁﬁej@{
BORO&HEOWD. : [

Ttems 2006 2008

Sonds

Quantity Value Quantlty Value
noSPE  IPY,  TORRED ﬁ@o

i 25 750 30 960
B 30 450 25 550
C ihite 250 6 360
i ° 2 7 210
E 10 140 10 190
g ¢ S 5 65

Define with example:

i)  Exhaustive Events i) Equally likely events

iii) Random Experiment iv) Dependent Eventg

Wmﬁéde—éoimo&)ﬁ TN,
) meon, el i) RIRIE paag
iii) 8T X csfestoNg V) ©B0oRs s

A box contains 5 Red, 4 Green and 3 Blue, Balls, Three

random from the box. Find the probability that they are ?alls aredditon ot
i)  Same colour ii) Different colours

2,083 wéﬁﬁofo@ 5 Bowy), 4 BAOO R 3 O Worones | .
zéomrw:p o35, p3gesen 3R03TONT. 0, BRAT WBorony, BT00m  =yed
)  wone 206913 ii) 2:3 o} z3e<3 2R,

ZaleRoy :’Jowdaeoﬂaé &, ?

____/—-_—
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B.Com. IV Semester Degree Examination Apnl/May 2019
COMMERCE
Modern Banking Theory and Practice

(New)
Time : 3 Hours ; Maxim.um Marks : 80

Instructions to Candidates:

All sections are compulsory, according to internal choice.

Section - A
QN - € |
I.  Answer any ten of the following. ' (10 x 2 = 20)

IINSPYNSS | 2leror TZF VIR0,

a)  Who is a Banker 9
2,090° 058 IR ?

E) Define banker as a debtor.
R,0TT°E W), FOOMIT, 9,5 RA.

¢)  What do you mean by honour of cheques. ?
e, RO 0BT 2

d)  Define a cheque.

333 w0l BeB.
e) Who is a Garnishee ?

MRS HOTT 05Ty 92



A E
) What is Eindorsenent 7
Lotos aordded 7

g)  Whatis Hypothecation 7

Wooy WU RYeinie N
h)y  What is E-Banking ?
Q- 0don QOTBeR 7
i) Mention the types of ATM.
Q.95 (ATM)S B,50010 0353y ?
j)  What is an 'Allonge' ?
oo (Allonge) Q0O ?
k) Expand 'EFT.
'EFT" Q0N
1)  What are the sources of bank funds ?
239,083 QQOD Saeonwd odnEwy) 7
Section - B
AR - W
Answer any three of the following,

FUn=RNVY, tegod s COIDAD.

3 x8=1§)
2. Banker is bound to honour his customers cheque, comment,
R, 080T 27, Mo,TEE g @R derdesd WWFAD,
3.  What is special crossing ? Explain its different specimen,
ofem Besdrs o0y 7 wRNY NG SBRUONYE) LA,
4, What are the rightﬁ and duties of a pledger 7 )
NOLESF s HE) w2 EIra, W odnEwy) 7

5.  'What is electronic banking ? Explain the features of clectronie hm‘tking K

&ﬁ%@ﬁ mgoﬁ Somdesly 9 o csqkmﬁvsﬁg LI,
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Explain the general utility services of a commercial banks.

Tl O ol Xdeeriodnen Zesit i SZoro.
Section - C
o -
Amywer anv three of the following. 3 x 15 = 45)
FNEYG, Bend aod eoyono,
Explaen the peneral relationship between a banker & a customer.
ol DPT I MR Y SoHON m::;q mm;mv.:q LS00,
Wht & endorsements 7 Explain the different kinds of endorsements with examples.
LoucE SomterDd 7 Louss O TERONVED  runTurtdsear aonis.
Explain the principles of employment of Bank Funds.
L, oA SO PR LT b o S¥MD canzyy 9 Sooud,
Srape the cesentials snd different types of mongages,
RN SR SN ODG Drdad CAERENCE) HORDL0,
Explain any five forms of electronic banking,

5

z-.’:ésg ,‘:‘;;:;:‘: m‘ cés oL g ool s S0 m&;‘ﬂt’;‘d mh{)‘
; -
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B.Com. IV - Semester Degree Examination, May - 2018

COMMERCFE

Advertising & Sales Management

(New)

Time : 3 Hours

Instructions to Candidates:

Maximum Marks : 80

Answer all the questions subject to internal choice.

BO3VT esodyT LS o0 I,BRIN eu3dD.

Section - A

QN -

I Answerany Ten questions,

BewB B, 3,8108 euIDD.

a)

b)

C)

Define advertising.

W&HCUSR 35 Qed.

What s financial advertising ?

BEOTOA W HCOID) HowBesd ?

What do you mean by full service agency ?
dpeoE Seaw Zofridordesd ?

What is inhouse advertising agency ?
L2 0NrE wabeoad B0 dowded ?
What is percentage of sales method ?
BP0 3,383 dod aorwdesd ?
Expand : (1)) DAGMAR (ii) AIDA

HEOY (1) DAGMAR (ii) AIDA

(10 x 2 = 20)

[P.T.O.
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2)  Whatdo youmean by advertising, appeals ?
PhemadY SRONGoRBer) 7
h)  Whatare emotional appeals ?
| BT BIDGoTIer> ?
) Whatis Head Line ?
Beard Hogtderd ?
3 Whatis Trademark ?
T,@D B HoBerd ?
k)  Whatare sales contests ?
SRoOWT FBE NdonBers 7
1) Whatdo youmean by Tradeshows ?
3R, FToD ﬁ_}dérmn@owécab ?
Section- B
| ATACY o SRR
II.  Answer ahy Three questions . B x5=1i5)
Bevon Sedh 3,3M9R suzdLD. |
2. What are the functions of advertising ?
| %eT3R TIODERWR) 7
3. Whatare the advantages of using advertising agencies ?
P BeTRE FoFNUR), CUBOLRNDRHTOOT BrLE viEsedidem ?
4.  Discuss the factors influencing advertising budget. '
I dbe TR B0ONERS, B Dred B, 108 Ve vosrvD) ?
9 Mentidn the different types of advertising copies ? -
e loeTei 30 DO B,20MRDH) ? x
-6,

- What are the objectives of Trade Sales Promotion ?

TR0 BRoots ,IIFB0d eurednd RP) 2
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Section- C
Qydn - ¥
Answer any Three questions. (3 x 15 =45)
Weod S %, 3101 eu3dD.
7. Lxplain briefly types of advertising,
b0 3,50, HodTN HDAD,
8. Briefly explain various kinds of advertising agencies ?
So&j’_:nmh QG TR&CTR) 30%!1‘:}612{ 3020,
9. Explain various methods of determining advertising budget appropriation ?
&R Sooridas, HPokeADTON AFIRT I aIH3) ?
10.  Define advertisement copy. Explain briefly the structure of advertisement coﬁy with
an example.
m&ccé& @,3 29,35 AeB. wWadbcTD J,30H T238030&) oD YUPBBFH030001
ROB TR DFO.
11.

Explain the various kinds of consumer sales promotion.

M ,®T0 I0ot3 I,IIEI0D DG DPIVAIT), ISD2.
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- B.Com 1V Semester Degree Examination, May-2018

Insurance - Principles and Practice

(New)

‘Time : 3 Hours

Instructions to Candidates:

Maximum Marks : 80

Attempt all the three sections according to internal choice.

Section - A

BATARY o IR T

I Answer any TEN of the following.

Be50 B8, LUIDAB.

a)

b)

d)

What is assignment ?

IMEFIFH doBBerd ?

What is privatisation of insurance business ?
2 FBHoT 0pENFT SodBerd 7
What you mean by open consent ?

208 wart doudesd ?

When LLR.D.A Act passed ?

IRDA 5203 03na5en 222013 2082 ?

What is whole life poli.cy ?

BTe3 TN DO 0TBeR ?

 What you mean by team policy ?

BID0D T dogBerd ?

(10 x 2 = 20)

PT.O



L 2)

i)
1)
1)
i
k)
\»’)

m)

What fs speeific policy ?
&i;‘)t~a§j;§s‘ae)zz aopded 7
Give the meaning of jettison o]
(b3t ) B0 25030DE Horderd 7
What is time policy ?

3B DO HoBTER o
What is motor insurance ?
EI D orded ?

What is crop insurance ?

B4 2D dorBed ?

Expand ULIP and IRDA?
ULIP &3 IRDA 23DAD.

What is fire insurance ?

ef)llm;’n aordesd ?

Section- B
AR - W
I  Answer any THREE of the following
Wegod Se0s, tu3DAD.
%

How savings in insurance is better the savings in other mode ? Explain

aBodh wwd3acd A30 KL HRYNI w3 dE Berl 7 302

Explain lapse and revival of life insurance policy with example.

12426

@3 xs5=1

zed o) e
) TOY GIRIHAE DHA), @&mz{;ﬁcam ur}‘ AIDXD BB 03 00D

Explain the elements of fire insurance contract.

B, 9D TR0 R oBrivr) BodEmh D302,
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&)

Lh

Explain briefly implies warranties of marine insurance contract ?

FBL D oo wIOWS A, mddﬁn%&lﬁoéﬂmﬂ JID2D.
6. Write any fire general conditions of crop insurance.

IRYTRBLN D, 8¢ D08 WART, ZOLIYR WO,

Section- C

QPN - T
Answer any THREE of the following (3 x15=45)
Wewans SueUE, Hu3dRD.

7. Explain the uses of Insurance to the different class of people in the society ?

DD DoT FRRBBAS 23e8 Be8 InFy BIOA vz wa’oimennvaiglz)mbbb.
8. Explain the various types of fire insurance policy ?

DAY T, 500 &f) H3R B OINYTY DIO2D ?
9. Explain the general principles of insurance ?

AR, Hebod I rndw) 3020 ?
10, Explain the different types of marine losses ?

g@en HHobhABT KDY Bedad SR OI02D ?

11, What is burglary insurance ? Explain the various types of policies issued under burglary
insurance ?

593 2 aodddesd ? ¥ AW BOP) I, 500 mmnv@{ 302D ?
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B.Com. IVth Semester Degree Examination, May - 2018
COMMERCE
Corporate Accounting - II
(New)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates-
1. All Sections are compu]-sar}'.

¥

-

LEBNN% L "CS"- ﬁwew-

2 Use of simple calenlators allowed.
RTRTE Nezaboz, rigs  WERLRTD.

3. Give necessary working notes.

£

&
Ry

Section - A
230 - 8
1 Agpswer any "TEN of the following (10 x 2 =20)

d
5
Q
o
8
&
Q
5,
-
3
g
5
®

bj Mentiont

88 8% £355 0 o0 wiledngsd Sedh,

- e = =

€}  How do you treat profit prior to incorporation in the accounts ?
iaconisl Spdr ey 5%, LETUO Sen SOASDHID 7

-

¢y Whatis cum dividend value of equity shares ?

A

£57 eBimos HhE 570, doulerd ?

ks,
;"P)"} T,
z

[PT.O.
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¢)  Mention any two features of goodwill,
&eérzﬁ’a%m dixazé)mamdm Q0w c)*qfarwm?*u‘:cw{)t’),
0 What is non-performing asset ?
BT AL doddesd ?
g)  What is normal rate of return 9
RN V08 WY HowBerRd 7
) State any two circumstances under which the shares of a company valued,
Bedhrid IR0, FORICET 20U RO Y, #edd.
1)

Where do you show "non-banking assets' in bank balance-sheet ?

LR,05% Lo B3, F0d) ‘ww,0be3y BANYR) o DAY 7
1 Givetwo items apportioned on "Time Ratio'

Hed VTR BOWWHWT DVE SRy BePd,
K)  Mention the methods of accounting for inflation.

WS HdS 66‘5833@{3 DTWY ::)qsaamq#aigt 3920
1)

How do you treat inter company debts in consolidated balance - sheet 2

B8R, BEE gl B3,80hd 4030 - Yoz ROOTR, BT BOMESHAD.

Section - B

DB~ 2)
‘M Answer any "THREE' of the following: (3 % 5=15)
Wem s 08 wuIdDAD.
From the following particulars compute the value of goodwill of Sun C'c
maintainable profits Rs. 30,000 n

. L4d, Average
‘ ormal rate of return on capital investment 15%,
o value of net tangible assets R, 1,50,000.
é & B9RE BnLI00OE Sun Co. 11d, & be3rayOO 3w sombbband,
{18 RO9RD <Rt - Rs. 30,000

| wodY ERBEah Bedd RAM,

OMPOBEE - |5,

VY Aneuseane - Rs,1,50,000
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0,

I Answer any 'THREE' of the following:
WBewo S00E nu3HB.

7.

:3)

) 12429
Write short notes on any "TWO' of the following:
1) Minority interest 2) Inter company bills
33 Pre - acquisition reserve 4) Unrealized profit
WBeva s avryg ur}\mq&n b3S o,

) vogoand wwhewedd uxs 2) ©030 BoBA0D BOBN
3) B’ Fpde deren - 4) nYRw eyl
Scction - C

don - 8

The net profits of a business afier providing for income

-tax for the past 5 years are
Rs.60,000, Rs.50,000, Rs.55,000, Rs.70,000 and Rs.65,000 :
Capital employed in the business Rs.4,50,000

Current year's profit Rs.60,000

The normal rate of return 10%

The profits included non-recurring income on an average basis of Rs.10,000
Calculate the value of goodwill on the basis of

1) S years purchase of super profits
2)

Annuity method, taking the present value of
3)

Capitalization of super profit method.,

“wob DR INBBLT Boduy DAL DYe ROROD HOBR 5 3m
2038 Rs.60,000, Rs.50,000, Rs, 5

5,000, Rs. 70,000 Sy Rs,
FSB0ud Bedeny WOBY Rs.4,50,000
Q) Surg enyy Rs.60,000

iy R)a‘gue} eRY
65,000

ﬁ:aziraa% B8 oy

DBeBadsod.
10d Rg. | d;(ir%
M0, exayes WOl Yeny

2) Annuity me

csm”ac% 5 aiw,r% 3.78 wa&m.
0 a3,

annuity of Rs.1 for 5 yearsas3.78 |

(G x15=45) |




g

3)

Meera Ltd was incorporated op 1-7-2017 to take over the business of Madhav Ltd as
4 0IMg concern as from 1-4-2017. The profit & loss account of the company for the

year ending 31-3-2018 was as follows:
Particulars

Revenue from operations (Total sales)
Other Income

Total revenue

Expenses:

Cost of Sales

Salaries

Rent & Taxes

Interest on Debentures

Interest to vendors (up to 31-7-2017)
Depreciation

Advertisement

Audit fees

Director's fees

Discount on sales

Formation expenses

Bad debts

Total expenses

Profit for the year

Total

Additional information:

1) Bad debts upto 30-6-2017 were Rs.1,900

2)  The average monthly sales for the first three months were Rs.30

Amount
4,50,000
NIL

4.50.000

3,00,000
40,000
12,000

5,000
4,000
8,000
10,000
6,000
3,000
3,000
3,000
4,000

4,00.000

50,000

4,50.000

12429

the a verage monthly sales for the subsequent period was Rs.40,000.

,000 where a5
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-

Prepare a statement showing the profit prior to and after incorporation of the compay, |

SRgd 9. 8y . 1-4-2017 So DOeBFeN dyeww Fo. O. B. 1-7-2017 gy

a’uaeomao&)z}qgséi 31-3-2018 %ﬁ ﬁfaaiﬁfaeigﬁﬁ IRET Y - T o3 St BUNTosy

M ]efa 5]
YT ARE AT (b, B00k3)
Q33e 30
a,w.zsasmaoi)
:3?5@1*% 2
RINoLIT F.sta

A0V

W an ababJ %0

ORI, ne Dedy (AL~

SRTWMWBIN 8at3 w8 (B.31-7-2017 o 331)
AITY

ST

SLEleE TN L EW)

ABes380 B0,

SR0E edF Anen

Z%am dzs:ﬁ%b

R08o1AE e

IR (ORYA]

ﬁzsmai IRN&HS
2)

SO AL Sordbiy %,8 Sort

‘ ‘_"—-\-.)

BB .3 3onY oazd SRTL3

1) 8.30-6-2017 g BN F0ORE e Rs.1,900

203
4,50,000
NIL
2.50.000

.50.00

n

3,00,000
- 40,000
12,000
5,000
4,000
8,000
10,000
6,000
3,000
3,000
5,000

4,000
4,00,000

—_—

50,000
4

4,50,000

Sag.
Y ImED WRTHE Rs.3
Rs.40,000 wag.

i

0,000 gag. 305
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5oTAD Becores gpze DD decones Fozon R ITE) TOTELBOND.

D

D, "..-The lbllUWing is the (ria] balance ol'Suresh Bank Ltd, as on 31-3-2018

Name of Accounts

Dr. Cr.
Share capital : in shares of - 3,00,000
Rs.100 each
Reserve fund N 2,00,000
Borrowing from Dena Bank = 2,00,000
Current Accounts : == 10,00,000
Savings Bank Accounts =2 5,00,000
Fixed Deposits . 3,00,000
Capital Reserve - 40,000
Profit for the year (before appropriation) -- 2,00,000
Bills payable | -- 60,000
Profit & Loss Account (Bal on 1-4-2017) -- 1,50,000
Pension Fund - 50,000
Cash in hand 2,50,000 -
Cash with R.B.1. 2,00,000 N
Money at call & short notice 1,50,000 =
Investments 5,00,000 e
Balance with Canara Bank 3,00,000 _Z
Bills discounted & purchases 4,00,000 -
Cash credits and over drafts 9,00,000 -
Branch adjustment accounts 20,000 -
Premises (original cost Rs.2,50,000) 1,80,000 ' .z,
Furniture (original cost Rs.1,20,000) 90,000 g
Stamps on hand 10,000 ==
| 30.00,000 30,00,000

. Other information : |
1)  Claims against the bank not acknowledged as debt Rs.25 ,000

2)  Acceptances and endorsements Rs.80,000

3) Bills for collection Rs.1,20,000

[P.T.O.
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f /

schedoles. , ﬁ e
8.31-3-2018 O 83 30T 209 S, OB 159,081 3

e

Dr. Cr.
st ki 3,00,000
3e0) WOBRY |
Rs.100 T Setoned
S - - 2,00,000
Bew 13,0808 JBB WO o 2,080,008
130 a3 A I0,00,000.
930D P3N - 5,00,000
T3 Sesined . 590,000
WOTERY DR o ‘ 40,000
260 AT Y vl (Bous PTIFTN) e »2,00,-000
8RG8, 20BN X 60,000
DL D), B 233 (B. 1-4-2017 Towd) -- 1,50,060
Re83 Ses 99 | _ 50,000
3 I3 SR 2,50,000 N
RB.L 80t Srich 2,00,000 r
B0 ), 0enzh Soetsus B 1,50,000 i
. BRBSNW 5,00,000 4
BB0D 132, 08BOTO Rricy 3,00,000 s
: -‘ DO mal AneBesdyn RvDoRMeh 4,00,000 o
- 1th B2 % 88 Zomas 9,00,000 >
I ) Fnomess FRSOG | 0000
il &dﬁ(RsZSDOOO 3g) e e
> wedfacwﬁﬁmﬁ% (Rs.1: 20 goo m;} - ol L e

90,000



Wtﬁ MM
1)

2

)

10,000
é IRLERES A

iy ®Boelirndon mmmnumcmﬁ Rs.1,20.000.

12429

30,00,000

RUI0LH TOMrE N 1 0828 LoeOcuS Getirieh Rs 25,000,
2 A reAnd gy TrRreuLey R 80,000,

R odd oged 23 8aby B.31-3.2018 gorts S0 sune tedn Zainby.

Froem l?sc following balance-sheets and the particulars given below prepare the
consolidated balance - sheet of A 1td. and its subsidiary B Ltd as on 31-3-2018

ig

L BOQUITY & LIABILITIES

i1 Share holder's funds:
Reserve & surplus

23 Currem habilities
Tetal equity & liabilities
Tangsble fixed asscts

- Neon-current [nvestments

I Current Assets
Invenmtones © Stock
Trade Regeivables | Debtors

Cash & cash equivalents : Bank

Note No,

[ 3% ]

A Ltd.

2.00,000
1.00,000

30,000
3,50,000

1,70,000
20,000

40,000
30,000
20,000

B. Lid.

80,000

23,000
s,
20,000
.00

00,000

o
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L
Notes to balance sheets as at 31-3-2018
Note 1 :  Share capital
Share of Rs.10 each fully paid up 2,00,000 80,000
Share capital 2,00,000 80,000
Note2: Reserves & surplus
General Reserve 40,000 60,000
Surplus : Credit balance in P&L A/c 60,000 40,000
Reserves & Surplus lTO_O,QT__O 1.00.000
Note 3 :  Trade payables
Sundry creditors 30,000 20,000
Bills payable 20,000 ---
Trade payables 50,000 20,000
Note 4 :  Tangible fixed assets
Land and building 1,20,000 1,10,000
Machinery 50,000 40,000
| Tangible fixed assets 1.70,000 1,50,000
Note 5:  Non-current investments
6,000 shares in B.Ltd. 90,000 2
Non current investments 90,000 T
Other information:
1) ALtdacquired the shares in B 1td op 1-4-2017.
e b Aot it
3) Land and Building of B. 1 g OVer valued by Rs. 10,600
NS e Yt ol g, 00




(I

B.Com. IVth Semester Degree Examination, May 2018

|}

COMMERCE
(Modern Banking Theory And Practice)
~ (New)

Time : 3 Hours

Instructions to Candidates:
All the THREE sections should be answered in the same answer book.

DR [ c:)zoaﬁm*ab wodde V3T =Y, %odoe? W30,

Section - A

QPont - e

‘L Answer any TEN of the following:

Semr B I, ém"ﬁ eugd20.

a)

b)

d)

What is banking ?

W, 0%0M° dowsdeD ?

Who is the customer of bank ?
20,08 Mo, BTSOWS WRT ?
Who is a holder ?

DoUTR0E3 adrdd ?

What is Garnishee order ?
N3 eszd dowdedd 7

What is pledge ?

 NOD 20uder ?

12423

Maximum Marks : 80

(10 x 2 = 20)



IL

Y

gl

)

)

k)

D

(4

Wit do youmean by 2
Anon Braottd ey porded !
Pixpand s MULCR,

20.0ad 5,006, HEBLD.

What is marking of ncheque 7

A 1 e b dorddetd 7

Who ean be ealled o bailor? X
abadity D8 curswpditord godnady 7

What are eall loans ?

83 woorish aowdedd ?

What is core banking ?

Seob), et wo,080n¢ dowderd 7

What do you mean by ofl'sitc ATM ?

R0 N3eBrE ATM aoderd 7

Scction- B

PATARY ) AN

Answer any THREE of the following:

Wesad St I 38108 6u3dD,

2?

Bankeris a dignified borrower, Explain,

w:%cﬁdm n’adm&gﬂs MOMT JIDLY,

Explain agency services of a commercial banké -
m@%‘%omﬁv ﬁacmrzp‘aa Aes i b :
E i o0 RN Wi ooy
Wh

%000E D0tded ? botvzy D00 T waein

at is endorsement 2 Explain the different Kingg of o d .
I thy ndsolendorsement,

L 4y

B3x5-
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5.

Distinguish between "lien and pledge".

RPN B ) NOD A1y Mehas 3,3 8020.

What is electronic banking ? Explain advantages of electronic banking. |

DBV 11,0801 20BBerd ? VTT vR>EBeI D 0d0RJ) HZOD.

Section- C

QPon -

IOl Answer any THREE of the following. (3 X 15 =45)

Bewd et F,3098 eugd2D.

A

10.

11.

Explain primary general relationship between banker and customer.
;080 T3, M, BIT ST T, B33 IR, Bowognve 3020,
What is crossing of a cheque ? Explain the various types of crossing with examples.

543 Seaden 2oudend 7 295 wiab Seadnrnvay svemECHEson D302,

- Explain the traditional functions ofa commercial banks.

=30 837 239, 0BOTIY 70T, T30 0T T ODENIR) DZDLD.

What is banker's general lien Explain the conditions tq €xercise the right of lien
€39, 050® LRSI RANG o) BT, D0WBeRd ?maéow 33 B $6¢ﬁi ST

B 0BT FD2D.

Explain electronic payments systems.

W TS Bowo ot I S3H00 227 ‘@mdnﬁﬁiasﬁm.
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B.Com. IV Semester Degree Examination, May-2018
Business Statistics
Paper - 11

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: -
42 Statistical table and graph sheets will be supplied on request.
S nregahod, wwacdeciiuat.

2. Simple calculators may be used
ned3 ey DI, eded RSN, AT0d Soednt ;‘;,@clﬁcndﬁm.
Section-A
>N - o
L  Answer any TEN of the following. (10 x 2 =2D0)

St a’*éﬂai;ﬁﬂ@c?ﬂma’gdc @a’Jéim?ﬁ eu3DAD.
1. Define correlation coefficient.

3300y HH0TT méa% 3280.

5> Ifn= 10, £d*=65 and C.F = 1 then fin rank correlation coefficient.
n=10, ¥d*=65 3, C.F.= | ami3,¢fd 35 500000 e 033w FotbisB 0.
3. Define regression. *

SHouodad EB!EQ% 3R 8R0.

[P.T.0.
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RERETE R R - )

: Tl fficients
4 Write any two properties of regression coc
0.
Reis), WwO0
2OBOBOD HEosE alpPe HTR MNFRENTE
S, Define random variation with example.

.
NRBOBROD 53 Bpce IR P43 Ll

0. Write any two uses of time series.

OB, crdad adng)Be 28 suadeenny) WB00.
7. Define index number.
:-:’uamﬁoa’d araéa%-ﬁfaaa.

8. If Laspeyre's and paasche's price index numbers are 128 and 136 respectively, find
Fisher's index number.

c3e~od>d DD 'w—a,ozsd 236 AR, 0BF) B, N 128 D 136 'amﬁ wéda's RVRIASN 0%
6013380&0&)8

9.  Write two uses of sampling.
SR80 2T euBoSLENUR) WD,
10.  Define stratified sampling.
30e33 AWBFIed 20,33, BRRBD.
I1. IfP (A")=2/3 then find P(A)
P(A")=2/3 AW P(A) O&Ed.glﬁoﬁ)&@oa)a,
12. Define mutually exclusive events with example,

NIRBTF 030D T0I0 A3y 2 |
‘ S 0A] _‘,%"&3§ﬂ%’6$%m6m6&?\,6.
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Angwer any I'HREE of the following questions

13,

s
g ) : 12427

Seetion- B

war - w

3 x5=15)

o SUNS o3 Be SoRTd 3,319 su3dD.

M;\I'ks scored by l!lc students in statistics and Accountancy papers are given below.
Find rank correlation cocfficient and give your conclusion.

Marks in statistics 35 | 45| 48] 66| 60| 80 | 40| 100

Marks in Accountancy | 60 | 50 | 70 45| 40| 30| 62| 80

owaéaa;”o =y3d) €33 503 BE) NPIT YosniD 291 BpBRNE. 3,ce50dd
<&/ o ¢ @ ™ 2

DR, HETIEL 3
) BoTB0D o A 3eARFT 4pBD.

Z®B0WOL MOF30 083

FJOQJ%Baﬁaeﬁoﬁﬁw 35 | 45| 48 66| 60| 80 | 40 100

20| 45| 40| 30| 62| 80

cii%aa,-'s esowrieb 60 50
=

14,

Find 4-yearly centered moving averages for the following data.

1995 [ 1996 [ 1997 1998 | 1999

Year 1991
e 125|140 [130
o $uns e, grivon 4 SaET 80D s STRRDADR) TR

1993 | 1994 1995 | 1996 | 1997 1998 [ 1999

JAF 1991|1992

118 |125 140 |130

110

95 |62 |98

S0t (80
ave the following information. Calculate

cost of living index number

dle class families ina city 8

T sts of mi
he budgets of mid ond comment on the result.

[P.T.O.
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sntnennnd

Prices (in Rs.)
Ttems Expenseson | 1995 | 2000
( Food 35% 150 174
HouseRent  15% 50 60
| Clothing 20% | 100 125
Fuel 10% 20 25
Others 20% 40 60

SRBODHI DG, oIRET BoeDOWT 30303 QS0 YN ZPBeRNT. WS :325
,uam 0TI, uocﬁsmau&oa S, HVIVT a’ncej 920,03 &RBWD.

r BSrisb(Be.nYd) W
\ SR DWETD 1995 2000
‘ 50 35% 150 174
\ B 15% 50 60
W, 20% 100 125
BuThen 10% 20 25
| =aeE0 20% 40 60
16.

Define simple random sampling and explain briefly selection of the units by "Lottery
method”.

prie ) tﬁ:ﬁ aciér%coima 95 ﬁm&‘é ;fneb > ,B3 Y es0d) 033@ “Uatss& wtja"u'iﬁa
uﬂ%waaﬁ 23050,

=1

B

A card is randomly drawn from a “playi :
, ' pack of playing cards. Find the probabil;
drawn card is a Spade or a Sy | probability that the

2WOTH mﬁ tmb:; 'a::.ta godonog um;b ‘
o acﬁodaab BTN IR

Borsadeab3osdm 5, BORER 00D,
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REBERR

i ]T‘nu»\m ey
e o
% ltems Expenses on 1995 200t |
% Food 150 %
=0 o ()
House Rent 15% S50 | 0O g
Clothing 20% 100 125
Fuel 10% 20 25 4
\ Others 20% 40 60

‘ dera ey, theasid W5,
:ﬁtépd@mdm m%msﬁrd LALRMYAIN woiaasﬁod) e?md Seirt dradea Ny, L i‘
ARIR,08IW) FoR&HROND SR HUITE Do VYT, 03 S BD.

l BSrieb (BR.Ned)
Sorieh DWENRW 1995 2000
uFT 35% 150 174
YA Ye 15% 50 60
W 20% 100 125
UTHTED 10% 20 2>
a3 20% 40 60
16.  Define simple random sampling and explain briefly sclection of the units by "Lottery |
method".
RO By AIBF Seab TR,) 8,000, a3, AR rorie 0k 00 “eokd FEI 0D |
ﬁoéﬂmh DIDAY, | ‘
17. Acardis rax.ldomly drawn from a pack of playing cards. Find the probability that the  §
drawn card is a Spade or a Queen.
WOTDH e3b3 e3rdyzs

b3 B0B0000T3 2,00 D3R B ET M A clyrrafrrd ook o
Dt fen g » o8 eI N Ahabos N, mdo @ik
. 2 w0 U283 eschs aowﬁ&mu&x«zaim;“

BOU 0D,
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,f! ix f \} 7 P y ~ ~
e What are the p properiRy of correlation co-efficient 2

Find Karl Pearson's co-efficient of correlatton between X and Yo Also comment
on your result,

i TR I S . %
RBEE RS
| ; A el
i . “ { ! l i i
g Y i
i Y IR] 20 |22 22 20 26 |25 |27 |

b) XDY DG J AT WO ISR

O W IER000TT IR OIIN, FordeRawd.
e &%e\\h‘t Qeerad A,
I X | 20 ;,_2: |23 !25 ‘{:S 29 30 |33
<1< ]
LY £ 18§20 §22 220 {26 26 l2s |27
I9. Thebeight (X cms) and weight (Y kes) of 6 students ;1:?;3:\{1 ows. Obtain the two
regression equations. Also find the expectad height of 3 peTson whose waight 1 o0
EX | 135 | 157 | 159 | 161 | 163 160 |
3 ; | I : |
1 x | I - . P =
IY | 48 |30 |34 ENENE |

S b L
T uﬁr:‘ﬁ 3D, e FIAH IeTIH 60 $2 AR oII 23T Aot oy
3 3] 3 by
¥g -%am.
[ X | uss]szfuse] 16t | 16s | 160
: : i . ‘
i i TENT e e N
LY qE 485 | 50 i 54 § 52 L TR B
£ - - 3 i
2. Fistoiche loe mend and fnd the tend values, Abso prodict te sales for the vear 2006
[ Year | 2000 2001 | 2002 | 2003 | 2004 200
X o ey e = B 5 ? o
fSales | 10 12f o8| 15} 157 1

{PT.O.
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SR 0ok3 10

12

08 15 18
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21. Find Fisher's index number and show that it is satisfies the TR.T and FR.T

Item | Price(inRs.) Quantity (sold) 7
item | 1990 1995 1990 1995
Rice | 400 850 100 120
Wheat | 320 690 20 30
Sugar | 720 1600 10 10
Dhal | 720 2100 10 20

PBOT AR 063(\&) 600&5300@01)8 DD, 7 TR. Te23) FR.T &Ded 5 YR ) 34

NOTD :ifacb 0.

2 3 HBODD. K
SYNT Wz, 50 Seangd 53,=303r) 8ol esid ), =, B3riva) 3o

&

B

303
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Fneb | dSried (dr.ivd) | 3 Inend (8»0)
1990 1995 1990 1995
S 400 850 100 120
nred | 320 690 20 30
‘.:'.:'E;d 720 1600 10 10
Bed 720 2100 ‘10 20
Section- C
won -
I  Answer any Three of the following questions. (3 x 15=45)

th %N adRmBe e 3,8M91 eu3dD.

22. a) Inacity, 42% people read the Vijayavani news paper, 25% people read the Prajavani

news paper and 12% people read both these news papers. What is the probability that
randomly selected person reads at least one of these news papers?

a) moci)ww;ocs@ 42% 8 Des0eeed B3 8 LI, 25% B 3 0,808 38,3 LIt
22 12% =8 H0Bs 33,8 t,dozsaioaﬂmaad aa?gmﬂ cso:b aﬁaamrﬁ FoR
LOBRRIEN B33 Lih3 2530 Mouas&comsmm F0BODBADD. “

[P.T.O.
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b)  Abag contains 7 white, 5 black and 4 red balls. If two balls are drawn at random from

the bag, find the probability that both the balls are white.

b) wotd Beornd 7 09,5 3F) D 4 Fo) z.%oabm?d &TYTDON HOE &oﬁaﬁt’.}iﬁo

deodow 3ﬁ’man‘ DTVBR BoBONYY Y esﬂo‘oaxoa’a ,oowasc‘()eodoa"oi)a’o
5023)00@0&)8 :




